Economics 12PRIVATE 

Spring 2007
Quiz A
Please answer all questions.  To receive full credit, you must show any work you did to arrive at your answers. Good Luck!!

1.
Use the information below to find national income, net national product and gross national product:

Net Exports = 

$ -100 


Corporate Profits =           
$500
Consumption = 
$1500


Government Spending =   
$800
Wages & Salaries =   
$1800 


Investment =       

$400
Interest Income =     
$  220


Depreciation =        
        
$350

Rental Income =         $  120


Indirect Business Taxes =  
$160
Savings = 
           
$ 175


Transfer Payments = 

$390
Personal Taxes =        $  135



National Income

Net Domestic Product

Gross Domestic Product

Part II - What is the value (a $) for Proprietor’s Income?
2. Indicate which of the following represent frictional, structural or cyclical unemployment:

Joe quits his job as an accountant to become a teacher_____________________________
Layoffs in the housing construction industry due to weak sales___________________

Unemployment of persons lacking a college degree______________________
Jane’s departure from her job on the west coast to return to the East 
coast_______________

Unemployment arising from the long-term decline in demand for cigarettes ____________

Job losses in the U.S. due to the movement of the textile industry 

overseas_________________

Part II – What type of unemployment is targeted by the government?  Explain why.

Part IIB – Suppose the following represents the typical market basket of a U.S. consumer in 2005 versus 2006:



Item


Quantity
Year 1

Year 2




------


------------
---------

---------



Hamburger
                  1 lb.
$5.00/lb
$5.50/lb.



Ice Cream

     2 gallons
$7.50/gallon
$7.25/gallon 




Doughnuts

     1 dozen
$4.00/doz.
$5.50/doz.

Find the cost of the market basket in each year, and calculate the implied rate of 

inflation.

